14.9 Numerical answers to EXCEL worksheets

The full output is given in the lecturers' materials on the Internet.

14.8.1
Graphical presentation

All graphical output.

14.8.2
Summary statistics

14.8.2.2

        1
37.75;
11.04;
34, 39;
17, 64, 47 years

14.8.2.3

        2
67%
        3
Male 39.5, female 36.5 years;

Male 38.3, 11.1, female 36.8, 11.2 years  Male averages higher

Female spreads are wider.


14.8.3
Estimation and hypothesis testing

Note:  Most of these answers are produced from random samples, so your values will probably be different from these.

       2
37.75 years

       4
Not particularly

       5
21.7 to 38.1 years;
23.3 to 36.5 years;
Second interval narrower.

       8
34.2 to 48.8 years;
34.2 to 49.8 years;
Yes, overlap so could be the same.

       9
0.454  0.089  Mean ages of male and female populations could be the same.
14.8.4
Analysis of variance

14.8.4.1

       2
37.75, 11.04 years

       3
0.95
No significant difference

       4
0.95;
No significant difference

       7
6.62 x 10-10; At least two means different
14.8.5
Correlation and regression

      3
Yes but not strong
      4
0.398;
Yes

      5
Salary (£'000) = 7.73 + 0.554 x Age 

14.8.6
Time series analysis and forecasting

All output graphical.
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